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~ Suresh started his journey from P 1o Q by his bike at the speed of 40 km/h and

, the same distance he travelled on his foot at the speed of 10 km/h from Q to R. Then

returned from R to P via Q at the speed of 24 km/h. The average speed of the M .
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Yo 6 km to reach the station from his house, then he bt
'was 60 km/h and thus he reached his de;tnnatlon

ours. If the average speed of the entire journey ¥ i1 M
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pne-third of the total distance at the speed of
the speed of 20 km/h and the last one — thnr the speed
hat is the average speed of Bala? arel @15 @) 4@
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mh  (B) 19kmh - ~{C) 16 km/h

e distance of the School and house of Suresh is 80 kr
an the normal time to J‘gve for the college, so he i
he reached to college at the normal time. What is th
SEIRD aﬂvmaﬁﬁaﬁ I 80 T4l & lwﬁﬂ
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A\ |ta goes to College at ZOim/h and reaches  ' i N time s
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12.  Two places R and S are 800 km apart from each other. TW t”",!,"" N
t0wards S at an interval of 2 hours. Whereas A leaves R for S b * arka

~and B are 40 km/h and 60 km/h respectively. B overtakes A%
R to S. What is the ratio of time taken byAandBtomeetM 'Q'f M
A 800 # Q@ RAS H N o @ forg a1 HE @ e

SfafE A, S %ﬁR?ﬁ%ﬁﬁaﬂm%MSﬂ?Baﬂaﬁwﬁl
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13.  Two places R and S are 800 km apart from each other. Two p arSC

towards S at an interval of 2 hours. Whereas A leaves R for S before B. The spee
and B are 40 km/h and 60 km/h respectively. B overtakes A at M, whieh is
R to S. What is the distance from R, where B overtakes A? ¢ .k
800 faHl g¥ & | <1 @fd R 9 S & 3iR @1 "¢ & siviel 4 e Hvel ¢

forg, S & B & forg e & ygar Fevetar €1 A oiiv B a1+l o1 of BHEE 40
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oS Ce rtaln distance with his own speed but when he redu his '
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7. Prgr]av walked at 5 km/h for certain part of the journey and then he took an auto !f,ql!
the remaining part of the journey travelling at 25 km/h. If he took 10 hours for the entire
. Journey, what part of journey did he travelled by auto if the average speed of the entire
Journey be 17 kn/h? W & e ffRee AT A 5 A URT el A i W deel de
R o a8 9 ann @ Ry 25 ) g Her ) TR A U sife) Rean o 81 AR a8 T
;A B R 10 6 S 2 ot e 1 e T S Sifel Reaen & faen, afe 9o A

e Wi 17 foedy /wrer 0 iR R A
(A)  750km  (B)100km Jey” 150km (D) 200km =
o> =
2
18. 5,12,7,41,87,214 8YF™- @
(A) 19 (B) 35 () 22 (D) &
19.  14,7,13,17.5,21.75
(A) 10 (B) 12 (G 125 (D)
. 20. 15,5,45,58,7.9,°
(A) 96 (B) 11.42 (ETCI* 1283

21.  Find the sum of first 30 natural numbers Wi 30 Widhd EeTell @l ANl dqiss
L (A) 470 (B) 168 _AC) 465 (

k e .
56% of Y is 182. What is Y7 Y &1 56% 182 &1 @l Y &1 87

350" (B) 364 /Qe)’ 325 ‘

23, Which of the following two ratios is greater 17:18 and 10:14 grcit 17:48 211X
10:1 # | B T &7 =/ T
(A) 117/18 bl 10/ &

(C) Both are same <! t% 3 & (D)  Cannot determi

24. In a palace, supplies are available for 35 days for only
in the palace for vacation on day 1 itself. For how man

sufficient for all these people? T <2119 W ddel 75 SfdTf -. N T4 amgfe SEEn
B 99 WA W gleed & fav, fast g g5 Hfafr 3 e B fesii o forg we smgfd
93 Q:{'Iﬁ 'G!”‘-:'ﬁﬂﬁ If? %N tﬁﬂﬁ “‘ ‘WK'; ' T L y

90 days &7 (B) 11.2$;days fer  (C) 42 LAD) 225 'dé\?g fe=1

= |f difference between Compound Interest & :
f for 2 yrs. @ 5% p.a. is,Rs.122. Find the
ot Gy 5% U dedia AR AR & @ §

fAfaa
: ﬂ aaT?ng

< 14000 (B) Rs. 15000
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5. 2017 India-ASEAN Youth Summit was held from 14th = 19th August, 2017 in:
= 19 ST 2017 &7 Ra—Rya™ a1 THieH $el AT fhar T 91 :

A) N_s_w}Dethé Re (8) Mumbai %3¢ (C)Bhopal #ure (D) Chennai =

27.  Under project ‘Navika Sagar Parikrama', which will commence in Septem

a team o_anen officers of the Indian Navy would circumnavigate the globe onar
built sail boat named: Ridax 2017 ¥ sy, RS TR IRSAT > A, AN
IRFRA N W& A% Y Avw @ ot w1 o, B TRd BT SoaE | X

(A)INSV Durga g7t (B) INSV Sindhu R (C) INSV Amba 3iar (D) INSV Tan
28.  On August 18, 2017, which Asian country launched its first ¢ ) cou *

in handling Internet-related cases? 18 3, 2017 @), g TRE 391
P YN B A o wwe wmer e st R 8

A) Japan W (B) China € (C) South Korea =i #iRar '

Y
nent Bank USRI STwwe 4@ (B) World Bank g 85 .
netary Fund siiisa 577 e (D) New Development Bank =1 &

(A) Asian Dewve
(C) Intemational

30.

.- g has won a silver medal in th
ionships in Nottwil, Switzera
Ro H 7 4 F fa aien o

: ] B IETIE (B) Jatir
(C)  Prakash Jaishankar wre wrer Jo1’ Rin

Sition of Immovable Prope
gulations governing

me m of acc r : e properl’y by the cent B
the Lok Sabhz Iy 18,2017 Fhis bill is an amend Jinal act that came
into force in: ©ii W8I § 18 §[7ls, 2017 & e G @ B s 2017

GDCE:] TUdh HI®
1950
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A bill providing for setting up of the Indian Institute of Petroleum and Energy in
was introduced in the Lok Sabha on July 18, 2017, 18, 201? !l’!

W, ARA YRR AR st wmemmsmim

11 IJ .a R‘

E |
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(A) Punjab dsirg (B) Haryana &Rurn
C)Telangana deiwm=r (D) Andhra Pradesh i u@¥l

:
. "
B o4
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The best example of the extinction of species due to man's intervent
@ BRU, Folfod @ RAga 89 &1 §a9 {91 SaE &

(B Kivi (8) Dodo e
(C) Przewalski's h&e YaED! Tl (D) Bustard awerd

Which of follo t}{"‘,_’e sunlight in a direct fashion? w1 4 & w0 X

C g A W .,w) Solarthermal ‘;-'V»
Bio gas pro du S T SRH (D) BothA&B I A&B

. the 4™ W stands for gexsie varaell

X "f. )
‘ay

m?qﬁ%? ‘{. -

Worrﬁ (C) Wreck (D)

asizeof. IPv6 wdl &1 W &
3 a&its (C) 256 bits ©
ghises: AT WA HI-IHT KT

ties aifife iR WS TR
ninorities enfde®, HIi¥® am

Viughal Emperor's rule, i
2 highest? ¥ el I
& T o’ Y
_(B) Akbar 3HaR

(D)  Aurangzeb

ced by Akbar
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. Who among the following is said to.
As? BT 3 @ R R @ o8 :”‘~
S-Siraj Froe-ge-fne

[President of india referred the 4

' W*mﬁﬂmm _i‘;-. |

® 132 o) 138 i
)

D privacy as a Fundamental Right is d in
FENE e ‘
i

‘ 20Q }q’a'qa] Ndﬁm A
&memm
TG &1 ISR 51 T
Emlatm!l‘ﬁwéﬁﬂmm ’ Tﬂ’

iﬁ‘

selveen two sessions of parliament m
ﬂ&?s#ﬁ*maﬁaq“

y 6 months =iE (_c)

e 1o inflation in India, which of the
iﬁﬂﬁ%awq‘rnﬁ :
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i
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N
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. Acountry is said to be in a debt trap if §F <T FI FU P Fe H BH T o AR

It has to abide by the conditionalities imposed by the International Monetary Fund -
| 9 RIS Y51 B gN WA gt F1 A B o e 2

) It has to borrow to make interest payments on outstanding loans 38 @&@ % B

o geH & fan SuR o

It has been refused loans or aid by creditors abroad == ==ar1 277 F#5 37 Wa@s

& fore = frm o g & Y

The World Bank charges a very high rate of interest on outstanding & new loans

fiva ¥5 7 ok 9T O W g4 S9N I R A TG

With respect to GST, consider following statements GST & %5 3% 3 T2 R * F
. Reduces cascading effect @s 7a/@ T FH 31 2 | b
. Is a comprehensive indirect tax 7& T® FHE T T T N7
_ Aimed at forging a common domestic market 37 B3 IR B AR RO

-nd pefroleum are exempted from GST #f2=1 ¥ 727 @1 GST | =

(B) 2.3 correct Tl &
All the above are correc

mi

¢ deficit in Balance of Trade is mainiy due 0

R ; 1 3R 3§ IAE o UIE &1 §E SR &
of gold and s | |
Sort fbi,ﬁfgrainsama?ﬁﬁa?mﬁ_ ‘ R -
sniand steel AE it T 5 JEMEY ‘e

®) (a)and(c) -
(a) and{d)

» By

A
Scanned by CamScanner



52, Which of the following figures best depicts the relationship among criminals

- thieves and judges? =1 ferf # 9 apqurfore, ﬂ‘lﬁammmﬁa%ﬂﬁmmaﬂﬂr
ERCER L &aﬁr&nmé?

‘ (b) (c)
by JBT b € ¢
number of triangles i in the given f'gure T

u"’"

540

Sk ﬁﬁﬁmﬁaﬁmm?
AB) 20 © 24

ng two staten;pnts both of wh|ch cang
two statements'? =1 &1 Port ¥
P € | T8 2 o B § &7

b 1 wﬁrreﬁ%m :

aﬂénﬁmﬁa
Wmﬂﬁm

iﬂ

(\l

 in the equation for it to b

;*%g wm

x11-6 then a‘f 56

R . 7
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s7.  If + means divide, x means —, + means multiply and — means plus, then find the
vallle of 9+3+4-8x2 T + 37 axef Rwrer, x a1 e -, + a1 ek o S — P e TS &

ar 9+3+4-8x2 6> ¥y ra-2
(A) 15 (B)K} 17 /Qj/ 18 . ,& (D) 120

i B 0 oy el
S8. Emd the next term of the sequence ‘ 6 4,627, 9, .. 59 P4 fa=arer # e
STl ST ST TaT TGY NS L
{A) 8 (8 9 ) 64 (D) 16
59.  David divides 78 by half and adds 11. What number he gets at the end? 3fas 78 ®I
I ¥ °ET S 11 WSl ©, o 3id § 9T 3 HEA g7 %

, 1P

(A) 50 (B) 44% o 4Cy 167 (D) 83% @L
50. In a knockout football competition 23 teams participated. What was the least

number of matches they needed to play to decide the winner? T® “Hfp—3TTE . BE
iy & 23 Jwi A formn |sﬂaﬁﬁﬁﬁmmﬁvhaﬁ$mmﬁm_; ul

¥ I 2 ’)’iﬁ
Aa) 11 ®) 21 A 22 (D) 62 . -
61. At half past 5 in the evening, the smaller angle between the hour & mi ands of B
a clock is <9 BT 530 T, B B HE AR ATE B BIT D 419 FT BT DI 1 2 39
@A) 10° B) 12° /(g)/ SR 180 <
\ B
62.  Fillin the blanks Rer = 4RY : BA_BAC_;BAC_ACB_CBAC \&

(&) AACB @) BBCA _{€] CCBA (D) CBAC.

Angles of a given triangle are in the ratio of 2:3:4. What kind of e i h% given
4 ngb?ﬁqw%ﬁwﬁﬁvﬁmmazzsm%lﬁmwﬁﬁwﬁm, :

o7 2?

Right-angled @I A5 L‘“(%‘)/ Obtuse angle

Isosceles FAGATE DI BT Acute angle =

The houses of A and B fa o= other on a road going north-s y being on
western side. A comes out of his house, turns left, travels 5 km, travels 5
o the front of D's house. B does exactly the same and reaches fl C's house
Jis context, which one of the fellowing statements is correct? _ W IR
3 | A oo TR W STEY 1 8, A g € 5 fadl 31 I 9
o o 5 (AL @1 AT HYA & | B faeger 99T 8 Rl § 8 o

jge e A A9 [ o HEl 87 &

i
] 3
U

jouses of C & D are less tha | km apart. C 3R D%

‘I
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§5. BEM,DGJ, (?),EJO,GLQ,INS,?
(A) LR B) FIs © FKO s
66. H v}s T, F R £ P.? Y ’ J
@ KL 7 ‘mon " 9, é

‘ﬁ’ 43 0 s 8
T @ 10 (B) 13
8 If TOUR is written as 1234, CLEAR is wriff e
. find the code for CARE =2 TOUR =1 1234
_ SPARE #1 90845 &1 Y7ot & &1 CARE &7 @
1247 (B) 4847 (©) 5247
' DER is coded in a code

ARE s writic
R &I 56784 101

- de for CIRCULAP

Jd |

p (D) None of these SuRie & & @1 el
ner he is happy or he is poor. !Bh?f qE G % 7 h
happy WHAE |

: He is poor. AT : aTs"T@'ﬂ%]

Brence is definitely true 3 yofea: '\HFH
e is definitely false /AT qoiea: 2

2 is probably false or true \'HTTH
2 can not be drawn 1AM & e

0 are honest are good tgachers

eﬁmtely true 31§1TF[ Tﬂﬂa =
 de mtely false 31949 9 -
probably false or true AR

1 not be drawn /A ?!ﬁ

owing statements, whig
X OY B9 AT GE) ey £
ne members of the club..
hqve been invited fo
atfaaﬂfr g 79

ve been lnwte

Scanned by CamScanner



ome of the officers are not gentlemen ®w wfwT o wwws g6 78 €
Il gentlemen are members of the club o oY ¥4 @ G639 €
gentlemen have been invited for dinner #as F=a= 5% F TR WA W S
| ﬁ;z RRI A

. Im."“y there are husband, wife, two sons and two daughters. All the [adies Wess
a dinner. Both sons went out to play. Husband did not return from office. who

) S O3 SR WA T 7 | oYy eried | a8 | 9 W S e
y ~ N

wife was at hpme DA T TR O¥ of W o N YD

adies were at home ¥ w2t o mw off &t

 home @dcl g3 OR W o v S )
JMe BR W BIS e o AKX __~

T

. } isthe son o
~ which of the following ¢

¥and Y are sisters, Z is the mother of Y, P is the SIS
Ments is correct? afT A, Q & T3 £ Q IR Y 529 B

Pl 1 ouF od &7
\: P, A & A ¢ (B) P and Y are sisters; P 3R
Laie P oer w2 & (D) None of the above; $0

1

A B, C, D & E placed on a table. f A'S placed ~ Y
helow A and D is placed above E, then which (_

| e 0 the table? T 9 | 5 T® &I 1% € -
\ g1 S 2, B 7 A B @ v W £ DHE &
| B qﬂ &l & 7 o
B © A (D) «

_ “To decamp’ woulc
To remove tent : _ . (B) Toevict campers
To decrease pre ~ To leave suddeniy

-~ Which pair is
Dis cet | Sepe rate
-xacerbated : Increasec

f
a

5 P

(B) Gamut : Whole
(D)  Allude ‘Escape

sntify the correct pair:

jude : Dodge
;;c:

(B) Allude : Escape :
(D) Latter - ARSNWEEE .“

Jevil's advocate would be:

F evﬁ nerson
0 r:."; of a crimir
W -.g

:J“

4

L

8) A counter arg
(D) Unregisters
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What is not correct i ‘nest is to bird'? e Kt | K

Hi ‘|l’t° alroraft (B) Vault 1|to money b
08ira s to music __.Mwmc istobees

‘!*ﬁ;oppoalto of ‘Lascivious' would mean: g

®) Chasto ©) Flid ~ (B) Manifest

181 fon would mean: J
| *Ei : ' ;l l"

'\ (B) Concussion
A\ {B) Clove ropy
“ N ) out to an Italian restaurant tonly - Yy
ﬁ iy : s o
' (B) Ar. “k o : ’ '
D) Would UI ga:

L timeplease? "'
®) Whatls.
s \/LBTWhat

Mewasa reador(
Enthuslastlc M Voracious

ster taking me to the museum.
hast fit among the alternatives)

an to the museum.
en to the museum by my suster. -
ing taken to the museum by my siste

he m seum by my sister.
s' means: ¢
(B) Ta praise oneself
(D). To destroy ev¢ ythis
o alits ;A
ﬁ be honest
(D) To be bea F

‘
, '.,"

sted means:
(B) Indellbl

/(B’; Incorrigit
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